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program main
implicit none
integer,parameter :: Nx=303,ny=23
integer :: i,j,m,n,niter,maxit,nswdd
real(8) :: sormax,lx,ly,flowin,xmonin,ymonin,arden,sorce,cn,cs,ce,cw,ds,dn,de,dw
&
,resor,ardenx,durf,urfd,grav

integer :: iend,jend Lall
real(8) :: dx,dy I grid
real(8),dimension(nx) :: dxu I grid
real(8),dimension(nx+1) :: dxp I grid
real(8),dimension(ny) :: dyv I grid
real(8),dimension(ny+1) :: dyp I grid
real(8) :: resoru,nswpu,urfu Iuvel
real(8) :: resorv,nswpv,urfv 'vvel
integer :: nswpp I pcor
real(8) :: urfp,resorm,resord I pcor
real(8),dimension(nx,ny) :: du,dv ! pcor
real(8) :: ustart I'var
real(8),dimension(nx,ny) :: v,p,pp,psi,d,dd I'var
real(8),dimension(nx,0:ny) :: u I'var
real(8) :: visu,visv,visud,visvd,den I fluid
integer :: obsi,obsj ! obs
real(8),dimension(0:nx,ny-1) :: ap,an,as,ae,aw,su I coef

real(8),dimension(nx,ny) :: dk
integer,dimension(nx,ny) :: s
integer,dimension(nx,ny) :: t

niter=0
nswpu=2
nswpv=2
nswpp=3
nswdd=3

I fluid properties
den=1000.0
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visu=1.0D-4
visv=1.0D-6
visud=1.0D-3
visvd=1.0D-5
grav=9.8

durf=-203.7315
I durf=0.0D0
I program control and moniter
maxit=10000000
urfu=0.5
urfv=0.5
urfp=0.8
urfd=0.5
sormax=1.0E-1

obsi=151
obsj=6
Ix=3.0

ly=0.2

m=300

n=20

iend=m+1

jend=n+1

dx=Ix/real(m)

dy=ly/real(n)
I

call init

flowin=0.0
xmonin=0.0
ymonin=0.0



do j=2,jend,2
arden=dyp(j)
ardenx=dyp(j)
flowin=flowin+arden*ustart
Xxmonin=xmonin+ardenx*ustart*ustart
ymonin=ymonin+ardenx*ustart*den
end do

open (1,file="c:¥my documents¥ ¥outputl 1.txt',status="new"’)

!

100 niter=niter+1
call bound
call calu
call calv
call calp
call densit
resorm=resorm/flowin
resoru=resoru/xmonin
resorv=resorv/xmonin
resord=resord/ymonin

write(*,*) niter

do i=2,iend-1,2
do j=2,jend-1,2
u(i,j)=0.5D0*(u(i-1,j)+u(i+1,j))
v(i,j)=0.5D0*(v(i,j-1)+v(i,j+1))
end do
end do

do i=3,iend-2,2
do j=2,jend-1,2
v(i,j)=0.25D0*(v(i-1,j+1)+v(i+1,j+1)+v(i-1,j-1)+v(i+1,j-1))
p(i.,))=0.5D0*(p(i-1,j)+p(i+1.j))
d(i,j)=0.5D0*(d(i-1,j)+d(i+1,)))
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end do
end do

do i=2,iend-1,2
do j=3,jend-2,2
u(i,j)=0.25D0*(u(i-1,j+1)+u(i+1,j+1)+u(i-1,j-1)+u(i+1,j-1))
p(i,))=0.5D0%(p(i,j-1)+p(i,j+1))
d(i,j)=0.5D0*(d(i,j-1)+d(i,j+1))
end do
end do

do i=3,iend-2,2
do j=3,jend-2,2
u(i,j)=0.25D0*(u(i-1,j+1)+u(i+1,j+1)+u(i-1,j-1)+u(i+1,j-1))
v(i,j)=0.25D0*(v(i-1,j+1)+v(i+1,j+1)+v(i-1,j-1)+v(i+1,j-1))
p(i,j)=0.25D0*(p(i-1,j+1)+p(i+1,j+1)+p(i-1,j-1)+p(i+1,j-1))
d(i,j)=0.25D0*(d(i-1,j+1)+d(i+1,j+1)+d(i-1,j-1)+d(i+1,j-1))
end do
end do

do i=1,iend
u(i,jend)=u(i,jend-1)
p(i,jend)=p(i,jend-1)
d(i,jend)=d(i,jend-1)
end do
do j=1,0bsj
u(obsi,j)=0.0D0
v(obsi,j)=0.0D0
p(obsi,j)=0.0D0
d(obsi,j)=0.0D0
end do

do i=1,iend
psi(i,2)=dy*u(i,2)
end do
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do i=1,iend
do j=2,jend-2
psi(i,j+1)=psi(i,j)+dy*u(i,j+1)
end do
end do

do i=1,iend
psi(i,jend)=ustart*ly
end do

do j=1,0bsj
psi(obsi,j)=0.0D0
end do

if (MOD(niter,15000)==0) then

do i=1,iend
do j=1,jend
dk(i,j)=(durf*(j-1)*(1.0D-2))+(1000.0D0+(-durf*0.2D0))
end do
end do

do j=1,0bsj
dk(obsi,j)=0.0D0
end do

do i=1,iend
do j=1,jend
d(i,j)=d(i.j)+dk(i.j)
end do

end do
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I doi=l,iend
! do j=1,jend
! ps(i.j)=grav((

do j=0,jend
psi(0,j)=j-1
end do
do i=0,iend
s(i,j)=i-1
write(1,'(1x,i5,22f15.11)") s(i,j),psi(i,1:jend)
end do

do i=1,iend
do j=1,jend
s(i,j)=i-1
t(i.j)=i-1
write(1,'(1x,2i5,2f15.12)") s(i,j),t(i,j),u(i,j),v(i.j)
end do
end do

do j=0,jend
d(0.j)=j-1
end do
do i=0,iend
s(i,j)=i-1
write(1,'(1x,i5,22f15.8)") s(i,j),d(i,1:jend)
end do

I doi=1,iend
! write(1,'(1x,22f15.8)") p(i,1:jend)
I enddo
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end if

I if(MOD(niter,10)==0) then
I write(1,'(1x,4€15.8)") resord,resorm,resoru,resorv
I endif

sorce=amaxl(resord,resorm,resoru,resorv)
if ((niter==140).and.(sorce>1.0E4*sormax).or.(niter==maxit)) then
write(*,*)'
stop
end if
I if ((niter>1 .and. sorce>sormax) .or. (niter==1)) go to 100
if (niter<15000) go to 100

close(1)
stop

contains
subroutine init
implicit none

do i=1,iend,2
dxu(i)=2D0*dx

end do

do i=2,iend-1,2
dxp(i)=2D0*dx

end do

do j=1,jend,2
dyv(j)=2D0*dy

end do

do j=2,jend-1,2
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dyp(j)=2D0*dy
end do

do i=1,iend
do j=1,jend
u(i,j)=0.0
v(i,j)=0.0
p(i,j)=0.0
pp(i,j)=0.0
du(i,j)=0.0
dv(i,j)=0.0
psi(i,j)=0.0
d(i,j)=0.0
dd(i,j)=0.0
end do
end do

do j=1,jend
ustart=0.03
u(1,j)=ustart
end do

return
end subroutine init

subroutine calu
implicit none

do j=2,jend-1,2
do i=3,iend-2,2
if (i==0bsi .and. j<=0bsj) go to 400

cn=0.5D0*(v(i-1,j+1)+v(i+1,j+1))*dxu(i)
€s=0.5D0*(v(i-1,j-1)+v(i+1,j-1))*dxu(i)
ce=0.5D0*(u(i+2,j)+u(i,j))*dyp(j)
cw=0.5D0*(u(i,j)+u(i-2,j))*dyp(j)
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ds=visv*dxu(i)/dyv(j-1)

I'if (i==0bsi .and. j==0bsj+2) ds=0.0
dn=visv*dxu(i)/dyv(j+1)
de=visu*dyp(j)/dxp(i+1)

I'if (i==0bsi-2 .and. j<=obsj) de=0.0
dw=visu*dyp(j)/dxp(i-1)

I'if (i==0bsi+2 .and. j<=obsj) dw=0.0

an(i,j)=Dmax1(Dabs(0.5D0*cn),dn)-0.5D0*cn
as(i,j)J=Dmax1(Dabs(0.5D0*cs),ds)+0.5D0*cs
ae(i,j)=Dmax1(Dabs(0.5D0*ce),de)-0.5D0*ce
aw(i,j)=Dmax1(Dabs(0.5D0*cw),dw)+0.5D0*cw
du(i,j)=dyp(j) ! yx
su(i,j)=du(i,j)*(p(i-1,j)-p(i+1,j))/den

400 end do

end do

I top water

do i=3,iend-2,2
an(i,jend-1)=0.0
end do

I bottom wall

do i=3,iend-2,2
as(i,2)=0.0
end do

as(obsi,obsj+2)=0.0

resoru=0.0

do j=2,jend-1,2

do i=3,iend-2,2

if (i==0bsi .and. j<=0bsj) go to 200
ap(i,j)=an(i,j)+as(i,j)+ae(i,j)+aw(i,j)+(ce+cn-cw-cs)
du(i,j)=du(i,j)/ap(i,j) I de=Ae/ae
resor=an(i,j)*u(i,j+2)+as(i,j)*u(i,j-2)+ae(i,j)*u(i+2,j)
+aw(i,j)*u(i-2,j)-ap(i.j)*u(i,j)+su(i.j)
resoru=resoru+Dabs(resor)

63

&



I simple
ap(i,j)=ap(i,j)/urfu
su(i,j)=su(i,j)+(1.0D0-urfu)*ap(i,j)*u(i,j)
du(i,j)=du(i,j)*urfu
200 end do
end do

do n=1,nswpu
call tdmau(3,2,iend-2,jend-1,u)
end do
return
end subroutine calu

subroutine calv
implicit none

do j=3,jend-2,2
do i=4,iend-3,2

cn=0.5D0*(v(i,j+2)+V(i,j))*dxp(i)
¢s=0.5D0*(v(i,j)+Vv(i,j-2))*dxp(i)
ce=0.5D0*(u(i+1,j+1)+u(i+1,j-1))*dyv(j)
cw=0.5D0*(u(i-1,j+1)+u(i-1,j-1))*dyv(j)

ds=visv*dxp(i)/dyp(j-1)
dn=visv*dxp(i)/dyp(j+1)
de=visu*dyv(j)/dxu(i+1)

I if (i==0bsi-1 .and. j<obsj) de=0.0
dw=visu*dyv(j)/dxu(i-1)

I if (i==0bsi+1 .and. j<obsj) dw=0.0

an(i,j)=Dmax1(Dabs(0.5D0*cn),dn)-0.5D0*cn
as(i,j)J=Dmax1(Dabs(0.5D0*cs),ds)+0.5D0*cs
ae(i,j)=Dmax1(Dabs(0.5D0*ce),de)-0.5D0*ce
aw(i,j)=Dmax1(Dabs(0.5D0*cw),dw)+0.5D0*cw
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dv(i,j)=dxp(i) ! XX

su(i,j)=(dv(i,j)*(p(i,j-1)-p(i,j+1))-0.5D0*grav*(d(i,j+1)+d(i,j-1))*dxp(i)*dyv(j))/den
end do
end do

I do j=3,0bsj-1,2
! ae(obsi-1,j)=0.0
I end do

I do j=3,0bsj-1,2
! aw(obsi+1,j)=0.0
I' end do
resorv=0.0
do j=3,jend-2,2
do i=4,iend-3,2
ap(i,j)=an(i,j)+as(i,j)+ae(i,j)+aw(i,j)+(ce+cn-cw-cs)
dv(i,j)=dv(i,j)/ap(i,j) I dn=An/an
resor=an(i,j)*v(i,j+2)+as(i,j)*v(i,j-2)+ae(i,j)*v(i+2,j) &
+aw(i,j)*v(i-2,j)-ap(i.j)*v(i,j)+su(i.j)
resorv=resorv+Dabs(resor)
I simple
ap(i,j)=ap(i,j)/urfv
su(i,j)=su(i,j)+(1.0D0-urfv)*ap(i,j)*v(i,j)
dv(i,j)=dv(i,j)*urfv
end do
end do

do n=1,nswpv
call tdma(4,3,iend-3,jend-2,v)
end do

return
end subroutine calv
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subroutine calp

implicit none

real(8) :: smp

resorm=0.0

do i=2,iend-1,2
do j=2,jend-1,2

an(i,j)=dxp(i)*dv(i,j+1)
as(i,j)=dxp(i)*dv(i,j-1)

ae(i,j)=dyp(j)*du(i+1,j)
aw(i,j)=dyp(j)*du(i-1,j)

cn=dxp(i)*v(i,j+1)
cs=dxp(i)*v(i,j-1)
ce=dyp(j)*u(i+1,))
cw=dyp(j)*u(i-1,j)
smp=cn-cs+ce-cw
su(i,j)=-smp
resorm=resorm+Dabs(smp)
end do
end do

do j=2,0bsj,2
ae(obsi-1,j)=0.0
end do

do j=2,0bsj,2
aw(obsi+1,j)=0.0

end do

do i=2,iend-1,2
do j=2,jend-1,2

ap(i,j)=an(i,j)+as(i,j)+ae(i,j)+aw(i,j)

end do

end do
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do n=1,nswpp
call tdma(2,2,iend-1,jend-1,pp)

end do

do i=3,iend-2,2
do j=2,jend-1,2
if (i==0bsi .and. j<obsj) then
u(i,j)=0.0
else
u(i.j)=u(i.j)+du(i,j)*(pp(i-1,j)-pp(i+1,j)
end if
end do
end do

do i=4,iend-3,2
do j=3,jend-2,2
v(i,j)=v(i.j)+dv(i,j)*(pp(i,j-1)-pp(i,j+1))
end do
end do

do i=2,iend-1,2
do j=2,jend-1,2
p(i.))=p(i.j)+urfp*pp(i.j)
pp(i,j)=0.0
end do
end do

return
end subroutine calp

subroutine densit

implicit none
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real(8) :: dpref
do i=2,iend-1,2
do j=2,jend-1,2

cn=0.5D0*v(i,j+1)*dxp(i)
¢s=0.5D0*v(i,j-1)*dxp(i)

ce=0.5D0*u(i+1,j)*dyp(j)
cw=0.5D0*u(i-1,j)*dyp(j)

ds=visvd*dxp(i)/dyv(j-1)

dn=visvd*dxp(i)/dyv(j+1)
de=visud*dyp(j)/dxu(i+1)
dw=visud*dyp(j)/dxu(i-1)

an(i,j)=Dmax1(Dabs(cn),dn)-cn
as(i,j)=Dmax1(Dabs(cs),ds)+cs
ae(i,j)=Dmax1(Dabs(ce),de)-ce
aw(i,j)=Dmax1(Dabs(cw),dw)+cw
dd(i,j)=dxp(i)*dyp()
su(i,j)=-0.5D0*durf*(v(i,j+1)+v(i,j-1))*dxp(i)*dyp(j)
end do
end do

do j=2,0bsj,2
ae(obsi-1,j)=0.0
end do

do j=2,0bsj,2
aw(obsi+1,j)=0.0
end do

resord=0.0
do i=2,iend-1,2
do j=2,jend-1,2
ap(i,j)=an(i,j)+as(i,j)+ae(i,j)+aw(i,j)+2*(ce+cn-cw-cs)
resor=an(i,j)*d(i,j+2)+as(i,j)*d(i,j-2)+ae(i,j)*d(i+2,))
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+aw(i,j)*d(i-2,j)-ap(i,j)*d(i.,j)+su(i.j)
resord=resord+Dabs(resor)
ap(i,j)=ap(i,j)/urfd
su(i,j)=su(i,j)+(1.0D0-urfu)*ap(i,j)*d(i,j)
dd(i,j)=dd(i,j)*urfd
end do
end do

do n=1,nswdd
call tdma(2,2,iend-1,jend-1,d)
end do

I doi=2,iend-1,2

! do j=2,jend-1,2

! d(i,j)=d(i,j)+urfd*dd(i,j)
! dd(i,j)=0.0

! end do

I end do

return
end subroutine densit

subroutine tdmau(istart,jstart,iend,jend,phi)
implicit none

integer :: jstml,istart,jstart,iend,jend,jj
real(8) :: term

real(8),dimension(nx,0:ny) :: phi
real(8),dimension(0:ny-1) :: a,b,c,d

jstml=jstart
a(jstm1)=0.0
a(0)=a(2)
c(0)=c(2)
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do i=istart,iend,2
c(jstm1)=phi(i,jstm1)
do j=jstart,jend,2
if (i==0bsi .and. j<=0bsj) go to 300

| TDMA
a(j)=an(i.j)
b(j)=as(i.j)
c(i)=ae(i,j)*phi(i+2,j)+aw(i,j)*phi(i-2,j)+su(i,j)
d()=ap(i.j)

! Pi Qi
term=1.0D0/(d(j)-b(j)*a(j-2))
a(j)=a(j)*term
c(i)=(c()+b(j)*c(j-2))*term

end do

I PHI

do jj=jstart,jend,2
j=jend+jstml-jj
phi(i,j)=a()*phi(i,j+2)+c()
end do
300 enddo
return
end subroutine tdmau

subroutine tdma(istart,jstart,iend,jend,phi)
implicit none

integer :: jstml,istart,jstart,iend,jend,jj
real(8) :: term

real(8),dimension(nx,ny) :: phi
real(8),dimension(0:ny) :: a,b,c,d

jstml=jstart
a(jstm1)=0.0
a(0)=a(2)
c(0)=c(2)
a(1)=a(3)
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c(1)=c(3)

do i=istart,iend,2
c(jstm1)=phi(i,jstm1)
do j=jstart,jend,2

| TDMA
a(j)=an(i.j)
b(j)=as(i.j)
c(i)=ae(i,j)*phi(i+2,j)+aw(i,j)*phi(i-2,j)+su(i,j)
d()=ap(i.j)

! Pi Qi
term=1.0D0/(d(j)-b(j)*a(j-2))
a(j)=a(j)*term
c(i)=(c()+b(j)*c(j-2))*term

end do

I PHI

do jj=jstart,jend,2
j=jend+jstml-jj
phi(i,j)=a()*phi(i,j+2)+c()
end do
end do
return
end subroutine tdma

subroutine bound
implicit none

do i=1,iend
u(i,1)=0.0
v(i,1)=0.0
v(i,jend)=0.0
end do

do i=1,iend
u(i,jend+1)=u(i,jend-1)
d(i,jend+1)=d(i,jend-1)
u(i,0)=-u(i,2)
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d(i,0)=d(i,2)
end do

do i=1,iend
u(i,jend)=u(i,jend-1)
d(i,jend)=d(i,jend-1)
end do

do j=1,jend
u(iend,j)=u(iend-2,j)
du(iend,j)=du(iend-2,j)
v(iend-1,j)=v(iend-3,j)
dv(iend-1,j)=dv(iend-3,j)
v(iend,j)=v(iend-1,j)
dv(iend,j)=dv(iend-1,j)
V(2,j)=v(4.))
dv(2,j)=dv(4,))
du(1,j)=du(3,j)
d(iend+1,j)=d(iend-1,j)
dd(iend+1,j)=dd(iend-1,j)
d(iend,j)=d(iend-1,j)
p(iend,j)=p(iend-1,j)
pp(iend,j)=pp(iend-1,j)

end do

do j=1,0bsj
u(obsi,j)=0.0
v(obsi,j)=0.0
p(obsi,j)=0.0
d(obsi,j)=0.0
end do

return
end subroutine bound

end program main
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